
STEERING & SUSPENSION PARTS

JAPANESE VEHICLES

KOREAN VEHICLES

AMERICAN AND EUROPEAN VEHICLES

NEW ITEM LIST

VISIT CTR WEB CATALOGUE

www.neoctr.kr

NEO CTR CO., LTD.



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBT-97R 43330-39545 LOWER R CROWN/CROWN MAJESTA GS171, JKS175, JZS17#, UZS17# 99-07 10PCS

CBT-97L 43340-39425 LOWER L CROWN/CROWN MAJESTA GS171, JKS175, JZS17#, UZS17# 99-07 10PCS

CBT-98R 43330-39335 REAR R ARISTO JZS147, UZS143 91-97 10PCS

CROWN/CROWN MAJESTA JZS14#, LS141, UZS14#, GS141 91-95

CBT-98L 43340-29125 REAR L ARISTO JZS147, UZS143 91-97 10PCS

CROWN/CROWN MAJESTA JZS14#, LS141, UZS14#, GS141 91-95

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBHO-54R 51220-SWA-A01 LOWER R CR-V 07-11 20PCS

CBHO-54L 51230-SWA-A01 LOWER L CR-V 07-11 20PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBMZ-41 S47S-34-550A LOWER R/L BONGO 4WD SK82V 07- 12PCS

SK22T 02-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBS-10 LOWER R/L KEI/SWIFT ZC11S, ZC11S-2, ZC11S-3, ZC11S-4, 04- 50PCS

ZC31S 05-06

FOR ARM

45201-63J00/45202-63J00

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBF-27 9L3Z-3050-A LOWER FORD EXPEDITION 07- 40PCS

FORD F150 09-14

LINCOLN NAVIGATOR 07-

NEW ITEMS

BALL JOINT

TOYOTA

HONDA

MAZDA

SUZUKI

FORD



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBVW-2R 1K0 407 366C LOWER R AUDI A3 SPORTBACK II 8PA 04-13 20PCS

AUDI A3 CONVERTIBLE II 8P7 08-13

AUDI A3 HATCHBACK II 8P1 03-12

AUDI Q3 8UB 11-

SEAT ALTEA 5P1 04-

SEAT ALTEA XL 5P5, 5P8 06-

SEAT LEON II 1P1 05-12

SEAT TOLEDO III 5P2 04-09

SKODA OCTAVIA II 1Z3 04-

SKODA OCTAVIA HATCHBACK II1Z5 04-

SKODA SUPERB II 3T 08-

SKODA SUPERB HATCHBACK II3T5 09-

SKODA YETI 5L 09-

VW BEETLE CONVERTIBLE 5C7 12-

VW BEETLE HATCHBACK 5C1 11-

VW CADDY HATCHBACK III 2KB, 2KJ 04-

VW CADDY VAN III 2KA, 2KH 04-

VW EOS 1F7, 1F8 06-

VW GOLF PLUS V 5M1 05-08

VW GOLF PLUS VI 521 09-

VW GOLF V 1K1 03-08

VW GOLF VARIANT V 1K5 07-09

VW GOLF VI 5K1 08-12

VW GOLF VARIANT VI AJ5 09-13

VW GOLF CONVERTIBLE VI 517 11-

VW JETTA V 1K2 05-10

VW JETTA VI 162 10-

VW SCIROCCO III 137 08-

VW TIGUAN 5N1, 5N2 07-

VW TOURAN 1T1, 1T2 03-10

VW TOURAN II 1T3 10-

CBVW-2L 1K0 407 365C LOWER L AUDI A3 SPORTBACK II 8PA 04-13 20PCS

AUDI A3 CONVERTIBLE II 8P7 08-13

AUDI A3 HATCHBACK II 8P1 03-12

AUDI Q3 8UB 11-

SEAT ALTEA 5P1 04-

SEAT ALTEA XL 5P5, 5P8 06-

SEAT LEON II 1P1 05-12

SEAT TOLEDO III 5P2 04-09

SKODA OCTAVIA II 1Z3 04-

SKODA OCTAVIA HATCHBACK II1Z5 04-

SKODA SUPERB II 3T 08-

SKODA SUPERB HATCHBACK II3T5 09-

SKODA YETI 5L 09-

VW BEETLE CONVERTIBLE 5C7 12-

VW BEETLE HATCHBACK 5C1 11-

VW CADDY HATCHBACK III 2KB, 2KJ 04-

VW CADDY VAN III 2KA, 2KH 04-

VW EOS 1F7, 1F8 06-

VW GOLF PLUS V 5M1 05-08

VW GOLF PLUS VI 521 09-

VW GOLF V 1K1 03-08

VW GOLF VARIANT V 1K5 07-09

VW GOLF VI 5K1 08-12

VW GOLF VARIANT VI AJ5 09-13

VW GOLF CONVERTIBLE VI 517 11-

VW JETTA V 1K2 05-10

VW JETTA VI 162 10-

VW SCIROCCO III 137 08-

VW TIGUAN 5N1, 5N2 07-

VW TOURAN 1T1, 1T2 03-10

VW TOURAN II 1T3 10-

VOLKSWAGEN



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CET-212 45046-BZ060 OUTER R/L RUSH F700 06- 20PCS

(36/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-152R D8520-4EA0A OUTER R QASHQAI UK MAKE J11E 13- 25PCS

(34/2PCS)

CEN-152L D8640-4EA0A OUTER L QASHQAI UK MAKE J11E 13- 25PCS

(34/2PCS)

CEN-153R D8520-1KA0A OUTER R E30 VNZE0 13- 25PCS

JUKE F15, F15E 10- (34/2PCS)

LEAF ZE0, ZE0U 10-

TIIDA C12W, C12Z 11-

CEN-153L D8640-1KA0A OUTER L E30 VNZE0 13- 25PCS

JUKE F15, F15E 10- (34/2PCS)

LEAF ZE0, ZE0U 10-

TIIDA C12W, C12Z 11-

CEN-154R D8640-4BA0A OUTER ROUGE US MAKE T32U 13- 20PCS

RHD → L X-TRAIL T32 13- (34/2PCS)

LHD → R

CEN-154L D8520-4BA0A OUTER ROUGE US MAKE T32U 13- 20PCS

LHD → R X-TRAIL T32 13- (34/2PCS)

RHD → L

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEHO-61R 53540-S1A-E01 OUTER R ACCORD COUPE II CC1, CB6, CB7 92-93 18PCS

ACCORD WAGON II CE1, CE2, CF2 94-97 (30/2PCS)

ACCORD COUPE III CD7, CD8, CD9 93-98

ACCORD HATCHBACK III (UK) CH5, CH6, CH7, CH8, CL4 99-02

ACCORD COUPE IV CG 98-03

ACCORD SEDAN IV CB1, CB2, CB3, CB4 90-93

ACCORD SEDAN V CC7, CD#, CE# 93-98

ACCORD SEDAN VI CG#, CF#, CL#, CH# 98-02

ACCORD WAGON CB8, CB9, CC 91-93

SHUTTLE RA1, RA3 97-99

CEHO-61L 53560-S1A-E01 OUTER L ACCORD COUPE II CC1, CB6, CB7 92-93 18PCS

ACCORD WAGON II CE1, CE2, CF2 94-97 (30/2PCS)

ACCORD COUPE III CD7, CD8, CD9 93-98

ACCORD HATCHBACK III (UK) CH5, CH6, CH7, CH8, CL4 99-02

ACCORD COUPE IV CG 98-03

ACCORD SEDAN IV CB1, CB2, CB3, CB4 90-93

ACCORD SEDAN V CC7, CD#, CE# 93-98

ACCORD SEDAN VI CG#, CF#, CL#, CH# 98-02

ACCORD WAGON CB8, CB9, CC 91-93

SHUTTLE RA1, RA3 97-99

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEF-42 FR3Z-3A130-A OUTER R/L MUSTANG CONVERTIBLE S550 15- 30PCS

MUSTANG COUPE S550 15- (40/2PCS)

TOYOTA

HONDA

TIE ROD END

NISSAN

FORD



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEG-21R 22913275 OUTER R CHEVROLET CORVETTE- 14-15 10PCS

-STINGRAY COUPE/CONV (20/2PCS)

CHEVROLET CORVETTE- 14-15

Z06 COUPE/CONV

CEG-21L 22913276 OUTER L CHEVROLET CORVETTE- 14-15 10PCS

-STINGRAY COUPE/CONV (20/2PCS)

CHEVROLET CORVETTE- 14-15

Z06 COUPE/CONV

CEG-22R 1603267 OUTER R CHEVROLET ZAFIRA II 05- 25PCS

HOLDEN ASTRA AH 05-10 (34/2PCS)

HOLDEN ASTRA CONVERTIBLETS 05-06

HOLDEN ASTRA WAGON II AH 07-10

HOLDEN ASTRA HATCHBACK VAH 05-10

OPEL ASTRA H GTC L08 05-

OPEL ASTRA H TWIN TOP L67 05-

OPEL ASTRA H VAN L70 04-

OPEL ASTRA H SEDAN L69 07-

OPEL ASTRA H ESTATE L35 04-

OPEL ASTRA H HATCHBACK L48 04-

OPEL ASTRA J SPORT TOURER 12-

OPEL ZAFIRA B A05 05-

OPEL ZAFIRA C P12 11-

OPEL ZAFIRA VAN 05-

VAUXHALL ASTRA H SPORT- 05-10

HATCH

VAUXHALL ASTRA H VAN 05-

VAUXHALL ASTRA H WAGON 04-10

VAUXHALL ASTRA H HATCHBACK 04-09

VAUXHALL ASTRA TWIN TOP 06-10

VAUXHALL ZAFIRA B M75 05-

CEG-22L 1603266 OUTER L CHEVROLET ZAFIRA II 05- 25PCS

HOLDEN ASTRA AH 05-10 (34/2PCS)

HOLDEN ASTRA CONVERTIBLETS 05-06

HOLDEN ASTRA WAGON II AH 07-10

HOLDEN ASTRA HATCHBACK VAH 05-10

OPEL ASTRA H GTC L08 05-

OPEL ASTRA H TWIN TOP L67 05-

OPEL ASTRA H VAN L70 04-

OPEL ASTRA H SEDAN L69 07-

OPEL ASTRA H ESTATE L35 04-

OPEL ASTRA H HATCHBACK L48 04-

OPEL ASTRA J SPORT TOURER 12-

OPEL ZAFIRA B A05 05-

OPEL ZAFIRA C P12 11-

OPEL ZAFIRA VAN 05-

VAUXHALL ASTRA H SPORT- 05-10

HATCH

VAUXHALL ASTRA H VAN 05-

VAUXHALL ASTRA H WAGON 04-10

VAUXHALL ASTRA H HATCHBACK 04-09

VAUXHALL ASTRA TWIN TOP 06-10

VAUXHALL ZAFIRA B M75 05-

GENERAL MOTORS



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEVW-5R 1J0 422 812B R AUDI A3 HATCHBACK 8L1 96-03 25PCS

FAW-VW BORA 1J2 01-02 (34/2PCS)

FAW-VW BORA HS 06-08

FAW-VW BORA II 02-06

FAW-VW BORA NEW 08-

FAW-VW GOLF HATCHBACK 03-09

SEAT LEON 1M1 99-06

SEAT TOLEDO II 1M2 99-06

SKODA OCTAVIA 1U2 96-10

SKODA OCTAVIA WAGON 1U5 98-10

SVW LAVIDA 08-

VW BORA SEDAN 1J2 98-05

VW BORA WAGON 1J6 99-05

VW GOLF IV 1J1 97-05

VW GOLF V 1K1 03-08

VW GOLF VARIANT IV 1J5 99-06

VW NEW BEETLE 9C1, 1C1 98-10

VW NEW BEETLE CONVERTIBLE1Y7 02-10

CEVW-5L 1J0 422 811B L AUDI A3 HATCHBACK 8L1 96-03 25PCS

FAW-VW BORA 1J2 01-02 (34/2PCS)

FAW-VW BORA HS 06-08

FAW-VW BORA II 02-06

FAW-VW BORA NEW 08-

FAW-VW GOLF HATCHBACK 03-09

SEAT LEON 1M1 99-06

SEAT TOLEDO II 1M2 99-06

SKODA OCTAVIA 1U2 96-10

SKODA OCTAVIA WAGON 1U5 98-10

SVW LAVIDA 08-

VW BORA SEDAN 1J2 98-05

VW BORA WAGON 1J6 99-05

VW GOLF IV 1J1 97-05

VW GOLF V 1K1 03-08

VW GOLF VARIANT IV 1J5 99-06

VW NEW BEETLE 9C1, 1C1 98-10

VW NEW BEETLE CONVERTIBLE1Y7 02-10

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKH-58R 56825-G2000 FEMALE RHT IONIQ AE 16- 20PCS

(36/2PCS)

CEKH-58L 56820-G2000 FEMALE RHT IONIQ AE 16- 20PCS

(36/2PCS)

VOLKSWAGEN

HYUNDAI



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRN-62 D8E21-EB70A R/L NAVARA  07- 36PCS

FRONTIER  07-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRIS-12 8-97304-903-0 R/L D-MAX 05- 20PCS

   

   

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRMZ-62 D10E-32-240 R/L CX-3 16- 20PCS

CRMZ-63 N243-32-240 R/L MX-5 MIATA 16- 36PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRS-21 48830-86G00-000 R/L IGNIS II MH 03-07 32PCS

WAGON R II 00-03

WAGON R III 03-08

WAGON R+ EM 98-00

WAGON R+ II MM 00-07

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRHO-66L 53011-S8R-013 L VAMOS 99- 20PCS

CRHO-69 53610-TY2-A01 R/L ACURA RLX 14-15 48PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRPU-5 3812.95 R/L CITROEN C15 BOX VD_ 84-00 20PCS

CITROEN XANTIA X1 93-98

CITROEN XANTIA BREAK X1 95-98

CITROEN XANTIA II X2 98-03

CITROEN XANTIA BREAK II X2 98-03

PEUGEOT 205 CONVERTIBLE 741B, 20D 86-94

PEUGEOT 205 HATCHBACK 741A , 741C 83-90

PEUGEOT 205 HATCHBACK II 20A, 20C 90-98

PEUGEOT 205 VAN II 94-00

CRPU-6 3812.C7 R/L PEUGEOT 607 9D, 9U 00-10 20PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRVW-4 R/L FAW-VW BORA BO 01-13 20PCS

FAW-VW GOLF GO 04-09

SVW LAVIDA LAV 08-13

SAW NEW LAVIDA NLAV 12-13

FOR TIE ROD ASS'Y

1JD422803/1JD422804

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRKH-56 56540-F2000 MALE RHT AVANTE AD 15- 20PCS

M16 X 1.5 IONIQ AE 16-

M16 X 1.5

PEUGEOT

VOLKSWAGEN

HYUNDAI

ISUZU

NISSAN

SUZUKI

HONDA

RACK END

MAZDA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQT-34R 48068-05050 LOWER R AVENSIS AT22#, AZT220, CDT220, CT220, ST220 97-03 4PCS

ZZT22#

CQT-34L 48069-05050 LOWER L AVENSIS AT22#, AZT220, CDT220, CT220, ST220 97-03 4PCS

ZZT22#

CQT-35R 48610-39125 UPPER R CROWN GRS182 04-08 4PCS

CROWN/MAJESTA GRS18#, UZS18# 03-08

MARK X GRX12# 04-09

LEXUS GS300/350/430/460 GRS19#, URS190, UZS190 05-11

LEXUS GS450H GWS191 06-11

CQT-35L 48630-39085 UPPER L CROWN GRS182 04-08 4PCS

CROWN/MAJESTA GRS18#, UZS18# 03-08

MARK X GRX12# 04-09

LEXUS GS300/350/430/460 GRS19#, URS190, UZS190 05-11

LEXUS GS450H GWS191 06-11

CQT-36R 48068-19176 LOWER R MR2 ZZW30 99-05 4PCS

MR-S ZZW30 99-07

BB/OPEN DECK NCP3# 00.01-03.05

IST NCP6# 02.04-03.05

PROBOX/SUCCEED NCP5#, NLP51 02.06-03.05

SCION XB NCP31 03.04-03.05

SCION XA NCP61 03.04-03.05

CQT-36L 48069-19156 LOWER L MR2 ZZW30 99-05 4PCS

MR-S ZZW30 99-07

BB/OPEN DECK NCP3# 00.01-03.05

IST NCP6# 02.04-03.05

PROBOX/SUCCEED NCP5#, NLP51 02.06-03.05

SCION XB NCP31 03.04-03.05

SCION XA NCP61 03.04-03.05

CQT-37R 48068-59065 LOWER R TOYOTA XA NCP61 03-06 4PCS

BB/OPEN DECK NCP3# 03.05-05

IST NCP6# 03.05-07

PROBOX/SUCCEED NCP5#, NLP51 03.05-14

SCION XB NCP31 03.05-06

SCION XA NCP61 03.05-06

CQT-37L 48069-59065 LOWER L TOYOTA XA NCP61 03-06 4PCS

BB/OPEN DECK NCP3# 03.05-05

IST NCP6# 03.05-07

PROBOX/SUCCEED NCP5#, NLP51 03.05-14

SCION XB NCP31 03.05-06

SCION XA NCP61 03.05-06

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQN-20R 54524-EB70D LOWER R FRONTIER D40B 08-12 4PCS

D40BB 12-

NAVARA MLY MAKE D40L 11-

NAVARA TIE MAKE D40T 06-

D40TT 12-

CQN-20L 54525-EB70D LOWER L FRONTIER D40B 08-12 4PCS

D40BB 12-

NAVARA MLY MAKE D40L 11-

NAVARA TIE MAKE D40T 06-

D40TT 12-

TOYOTA

NISSAN

CONTROL ARM



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQM-19 MR403485 REAR R/L AIRTREK/OUTLANDER CU4W, CU5W 01-08 4PCS

DION CR5W, CR6W, CR9W 99-05

DINGO CQ2A 99-00

LANCER CS1A, CS2A, CS3A, CS3W, CS5A, CS5W, 00-07

CS6A, CS6W, CS7A, CS7W

LANCER, LANCER CEDIA CS2A, CS2V, CS2W, CS5A, CS5AR, CS5AZ, 00-09

CS5W, CS6A

LANCER/LANCER CLASSIC CS1A, CS3A, CS3W, CS9W 00-12

MIRAGE DINGO CQ1A, CQ2A, CA5A 98-02

OUTLANDER CU2W, CU5W 03-08

CQM-20R 4013A430 LOWER R GALANT FORTIS/ CY6A 07- 4PCS

LANCER EVOLUTION

RVR GA4W 10-

CQM-20L 4013A429 LOWER L GALANT FORTIS/ CY6A 07- 4PCS

LANCER EVOLUTION

RVR GA4W 10-

CQM-21R MB809233 REAR R COLT/LANCER CA1A, CA2A, CA4A, CA5A, CB1A, CB2A, 91-96 4PCS

CB3A,  CB4A, CB5A, CB8A

LANCER CA5A, CB5A 92-95

LANCER/MIRAGE CA4A, CC4A, CD5A 91-96

CQM-21L MB809232 REAR L COLT/LANCER CA1A, CA2A, CA4A, CA5A, CB1A, CB2A, 91-96 4PCS

CB3A,  CB4A, CB5A, CB8A

LANCER CA5A, CB5A 92-95

LANCER/MIRAGE CA4A, CC4A, CD5A 91-96

CQM-22R MR414940 LOWER R PAJERO IO H61W, H62W, H66W, H67W, H71W, H72W, 98-07 4PCS

H76W, H77W

PAJERO / MONTERO IO H65W, H66W, H76W 98-05

PAJERO PININ / MONTERO IO H66W, H67W, H77W 99-05

CQM-22L MR414939 LOWER L PAJERO IO H61W, H62W, H66W, H67W, H71W, H72W, 98-07 4PCS

H76W, H77W

PAJERO / MONTERO IO H65W, H66W, H76W 98-05

PAJERO PININ / MONTERO IO H66W, H67W, H77W 99-05

CQM-23R MN161706 LOWER R GALANT DJ1A, DM1A 03-12 4PCS

CQM-23L MN161705 LOWER R GALANT DJ1A, DM1A 03-12 4PCS

CQM-24R 4010A118 UPPER R L200 KA4T, KB4T 05-13 4PCS

PAJERO/MONTERO SPORT KH4W, KH6W 08-13

TRITON KB9T 06-

CQM-24L 4010A117 UPPER L L200 KA4T, KB4T 05-13 4PCS

PAJERO/MONTERO SPORT KH4W, KH6W 08-13

TRITON KB9T 06-

MITSUBISHI



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQMZ-12 B092-28-600 REAR R/L 323 87- 4PCS

ETUDE 86-

FAMILIA 84-

FAMILIA CABRIOLET 86-

FAMILIA WAGON&VAN 89-

LASER 84

LASER CABRIOLET 87-

CQMZ-13R BBM2-34-300A LOWER R MAZDA 3 09- 4PCS

CQMZ-13L BBM2-34-350A LOWER L MAZDA 3 09- 4PCS

CQMZ-14R B455-34-300E LOWER R FAMILIA 90- 4PCS

323 91-

CQMZ-14L B455-34-350E LOWER L FAMILIA 90- 4PCS

323 91-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQG-6R 23462009 ◈ LOWER R CADILLAC ATS SEDAN RWD 13- 5PCS

20768759 CADILLAC ATS COUPE RWD 15-

CQG-6L 23462008 ◈ LOWER L CADILLAC ATS SEDAN RWD 13- 5PCS

20768758 CADILLAC ATS COUPE RWD 15-

CQG-7R 22981337 ◈ LOWER R CADILLAC ATS SEDAN RWD 13- 4PCS

23462001 CADILLAC ATS COUPE RWD 15-

CQG-7L 22981336 ◈ LOWER L CADILLAC ATS SEDAN RWD 13- 4PCS

23462000 CADILLAC ATS COUPE RWD 15-

CQG-8R 23462011 LOWER R CADILLAC ATS SEDAN AWD 13- 5PCS

CADILLAC ATS COUPE AWD 15-

CQG-8L 23462010 LOWER L CADILLAC ATS SEDAN AWD 15- 5PCS

CADILLAC ATS COUPE AWD 15-

CQG-9R 22981335 LOWER R CADILLAC ATS SEDAN AWD 13- 5PCS

CADILLAC ATS COUPE AWD 15-

CQG-9L 22981334 LOWER L CADILLAC ATS SEDAN AWD 13- 5PCS

CADILLAC ATS COUPE AWD 15-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKH-105R 54501-C1000 LOWER R SONATA LF 14- 4PCS

SONATA HYBRID LF 14-

CQKH-105L 54500-C1000 LOWER L SONATA LF 14- 4PCS

SONATA HYBRID LF 14-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKH-105R 54501-C1000 LOWER R K5 TF 15- 4PCS

CQKH-105L 54500-C1000 LOWER L K5 TF 15- 4PCS

HYUNDAI

KIA

MAZDA

GENERAL MOTORS



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLT-97R 48830-30100 REAR R LEXUS GS250/350/450H AWL10, GRL1#, GWL10 11- 25PCS

LEXUS GS/GS HYBRID AWL10, GRL1#, GWL10 12- (50/2PCS)

LEXUS IS250/350 GSE3# 13-

LEXUS IS250/350H/300 AVE30, GSE3# 13-

LEXUS RC350 GSC1# 14-

LEXUS RC300H/350 AVC10, GSC10 14-

CLT-97L 48840-30030 REAR L LEXUS GS250/350/450H AWL10, GRL1#, GWL10 11- 25PCS

LEXUS GS/GS HYBRID AWL10, GRL1#, GWL10 12- (50/2PCS)

LEXUS IS250/350 GSE3# 13-

LEXUS IS250/350H/300 AVE30, GSE3# 13-

LEXUS RC350 GSC1# 14-

LEXUS RC300H/350 AVC10, GSC10 14-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-77R 54618-AL501 ◈ FRONT R 350Z Z33 02-09 25PCS

54618-AL502 FAIRLADY Z Z33 02-08 (50/2PCS)

SKYLINE V35 01-07

STAGEA M35 01-07

STAGEA AXIS350S AM35 03-04

INFINITI G35 V35 02-07

CLN-77L 54668-AL501 ◈ FRONT L 350Z Z33 02-09 25PCS

54668-AL502 FAIRLADY Z Z33 02-08 (50/2PCS)

SKYLINE V35 01-07

STAGEA M35 01-07

STAGEA AXIS350S AM35 03-04

INFINITI G35 V35 02-07

CLN-78 56261-AV611 ◈ REAR R/L PRIMERA P12 01-07 25PCS

WP12 02- (50/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKH-68R 54840-D2000 FRONT R GENESISS EQ900 15- 20PCS

(40/2PCS)

CLKH-68L 54830-D2000 FRONT L GENESISS EQ900 15- 20PCS

(40/2PCS)

CLKH-69 55530-D2000 REAR GENESISS EQ900 15- 20PCS

(40/2PCS)

CLKH-70 54830-2M000 FRONT GENESIS COUPE BK 08-10.09 10PCS

(20/2PCS)

CLKH-71 55530-G2000 REAR IONIQ AE 16- 40PCS

(80/2PCS)

HYUNDAI

STABILIZER LINK

TOYOTA

NISSAN



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVT-75 48818-20350 RR STABILIZER BAR CELICA ZZT23# 99-05 4 PCS 60 PCS

COROLLA/FIELDER CE121, NZE12#, ZZE12# 00-06

COROLLA RUNX/ALLEX NZE12#, ZZE12# 01-06

SIENTA NCP8# 03-

WISH ANE1#, ZNE10 03-09

ZGE2# 09

CVT-78 48815-48040 FRT STABILIZER BAR HARRIER ACU3#, GSU3#, MCU3# 03-12 3 PCS 45 PCS

HARRIER HV MHU38 05-12

HIGHLANDER ACU2#, MCU2# '00-07

HIGHLANDER HV MHU2# 05-07

KLUGER MCU28 03-07

KLUGER HV MHU28 05-07

KLUGER L/V ACU2#, MCU2# 00-07

LEXUS RX300/350(JPP) MCU3#, GSU3# 03-08

LEXUS RX300/330/350 MCU3#, GSU35 03-08

LEXUS RX400H MHU3# 05-08

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVMZ-5 GS1D-28-156 RR STABILIZER BAR ATENZA SPORTS&WAGONGH 07- 3 PCS 45 PCS

MAZDA 6 GH 07-12

MAZDA 6 WAGON GH 07-12

CVMZ-6 D651-34-156 FRT STABILIZER BAR DEMIO DE 07- 3 PCS 45 PCS

MAZDA 2 DE, DG 07-

CVMZ-8 S10H-34-470 FRT LOWER ARM BONGO FRIENDEE SG 95- 3 PCS 45 PCS

FREDA 98

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVSU-13 20414-FG020 FRT STABILIZER BAR IMPREZA (GE, GH) G12 07-14 3 PCS 45 PCS

IMPREZA (GJ) G13 11-

IMPREZA (GR, GV) G22 07-10

IMPREZA (GP WGN) G23 11-

LEGACY B13 03-05

CVSU-15 20464-SC010 RR STABILIZER BAR FORESTER S12 07-12 3 PCS 45 PCS

S13 12-

IMPREZA (GE, GH) G12 08-13

IMPREZA (GJ) G13 11-

IMPREZA (GR GV) G22 10-

IMPREZA (GP WGN) G23 11-

IMPREZA (GP XV) G33 12-

LEGACY B14 09-13

CVSU-16 20414-FG030 FRT STABILIZER BAR IMPREZA G12 07-10 3 PCS 45 PCS

MAZDA

SUBARU

BUSH

TOYOTA

30



* ADDITIONAL APPLICATION IS THE NEW OEM NUMBERS WHICH CAN BE COMMON USED WITH CURRENT CTR PRODUCTS

WITH GOOD PERFORMANCES.

THE OEM NUMBERS AND OTHER APPLICATIONS WITH MARK ☆ ARE NEW APPLICATIONS AND WERE NOT INCLUDED

IN LAST VERSIONS OF CTR PARTS CATALOGUES, AND THOSE ARE NEWLY ADDED INTO CTR APPLICATIONS.

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CESU-4R 31320-GA190 OUTER R LEGACY BC2 89-93 36PCS

34161-AL000 FEMALE RHT 15- (50/2PCS)

M14 X 1.5 OUTBACK 15-

CESU-4L 31320-GA200 OUTER L LEGACY BC2 89-93 36PCS

34161-AL010 FEMALE RHT 15- (50/2PCS)

M14 X 1.5 OUTBACK 15-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-141 D8640-1HJ0A ◈ OUTER R MARCH K11 09- 25PCS

D8640-1HA0A M12 X 1.25 NOTE E12 12- (34/2PCS)

48647-3VU0A OUTER L NOTE UK MAKE E12E 13-

CEN-142 D8520-1HJ0A ◈ OUTER L MARCH K11 09- 25PCS

D8520-1HA0A M12 X 1.25 NOTE E12 12- (34/2PCS)

48527-3VU0A OUTER R NOTE UK MAKE E12E 13-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKK-38R 56820-A7090 FEMALE RHT K3 13- 20PCS

56825-A7500 M16 X 1.5 FORTE 14- (34/2PCS)

 

CEKK-38L 56820-A7000 FEMALE RHT K3 13- 20PCS

56820-A7500 M16 X 1.5 FORTE 14- (34/2PCS)

 

ADDITIONAL APPLICATION

NISSAN

KIA

TIE ROD END

SUBARU



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBN-73 LOWER R/L NAVARA D23T 07- 30PCS

FOR 54500-EB70A/54501-EB70A

          54500-4JA0A/54501-4JA0A

CBN-74 UPPER R/L NAVARA D23T 07- 30PCS

FOR 54524-EB70D/54525-EB70D

          54524-4JA0A/54525-4JA0A

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQHO-31R 51350-SAA-G02 LOWER R JAZZ GD1, GD5, GE2, GE3 02-08 4PCS

51350-SAA-E01

CQHO-31L 51360-SAA-G02 LOWER L JAZZ GD1, GD5, GE2, GE3 02-08 4PCS

51360-SAA-E01

CQHO-44R 51350-S5A-A10 ◈ LOWER R CIVIC EM2, ES 00-05 4PCS

51350-S6A-A00 CIVIC HATCHBACK EU_, EP_ 01-05

51360-S6D-G00

CQHO-44L 51360-S5A-A10 ◈ LOWER L CIVIC EM2, ES 00-05 4PCS

51360-S6A-A00 CIVIC HATCHBACK EU_, EP_ 01-05

51350-S6D-G00

CQHO-45R 51350-S6F-E01 LOWER R CIVIC HATCHBACK EU_, EP_ 02-05 4PCS

51350-S5T-Z01 CIVIC SEDAN ES 03-05

CQHO-45L 51360-S6F-E01 LOWER L CIVIC HATCHBACK EU_, EP_ 02-05 4PCS

51360-S5T-Z01 CIVIC SEDAN ES 03-05

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKH-14R 54540-4B000 ◈ LOWER R PORTER 96-04 4PCS

54540-4B001 PORTER II 04-

54540-4F000

54540-4F005

CQKH-14L 54510-4B000 ◈ LOWER L PORTER 96-04 4PCS

54510-4B001 PORTER II 04-

54510-4F000

54510-4F005

HONDA

HYUNDAI

CONTROL ARM

NISSAN



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLT-1 48820-20010 FRONT COROLLA AE9# 87-91 40PCS

M10 X 1.25 CELICA 86-93 (80/2PCS)

48830-30060 REAR ARISTO JZS147, UZS143 91-97

48830-24010 M10 X 1.25 CROWN/CROWN MAJESTA GS141, JZS14#, LS141, UZS14# 91-95

GS151, JZS15#, LS151, UZS15# 95-01

SOARER JZZ3#, UZZ3# 91-00

LEXUS GS300 JZS147 93-97

LEXUS SC300/400 UZZ30, JZZ31 91-00

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-37 56261-JA000 REAR R ALTIMA Z50 07-13 25PCS

56261-1AD0A M10 X 1.25 ELGRAND E52 10- (50/2PCS)

MURANO Z51 07-

TEANA J32 08-13

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLM-28 MN101368 ◈ FRONT R/L OUTLANDER CW5W 05- 10PCS

508758 M10 X 1.25 LANCER 08- (20/2PCS)

5174185AC PEUGEOT 4007 07-

CIETROEN C-CROSSER 07-

CHRYSLER SEBRING CONVERTIBLE, SEDAN 07-10

CHRYSLER 200 CONVERTIBLE, SEDAN 11-14

DODGE ABENGER 08-14

DODGE CALIBER 07-12

JEEP COMPASS 07-

JEEP PATRIOT 07-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKH-65 54830-F2000 FRONT AVANTE AD 15- 10PCS

IONIQ AE 16- (20/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKK-44 54830-A6000 FRONT CEE'D 14- 10PCS

54830-D9000 SPORTAGE 15- (20/2PCS)

NISSAN

MITSUBISHI

HYUNDIA

KIA

STABILIZER LINK

TOYOTA



* INFORMATION WAS CHANGED AS FOLLOWS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBHO-53 51120-T2A-305 LOWER R/L ACCORD COUPE /

SEDAN

13-16 50PCS

ACCORD HYBRID 14-15

ACURA TLX 15

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBHO-53 51220-T2A-305 LOWER R/L ACCORD COUPE /

SEDAN

13-16 50PCS

ACCORD HYBRID 14-15

ACURA TLX 15

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKH-7 56820-1C080 ◈ FEMALE RHT ACCENT 94-99 36PCS

 56820-22000 M14 X 1.5 VERNA (ACCENT,BRIO) 99-06 (50/2PCS)

56820-25000  LAVITA  (MATRIX) 01-

56820-28200 ELANTRA (LANTRA) 90-95

56820-28500 AVANTE (LANTRA,ELANTRA)  95-00

56820-29500 AVANTE (LANTRA,ELANTRA)XD 00-06

56820-3B000 TIBURON  (COUPE) 96-01

56820-37000 TUSCANI  (TIBURON,COUPE) 01-

56820-37010 SONATA  II 93-96

56820-37100 SONATA  III 96-00

MARCIA 95-97

  NEW GRANDEUR 92-98

 VERNA (ACCENT,BRIO) 99-02

 DYNASTY 96-05

 TRAJET XG 99-

SANTAFE 00-05

EQUUS  (CENTENNIAL) 99-

CLICK (GETZ) 02-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKH-7 56820-1C080 ◈ FEMALE RHT ACCENT 94-99 36PCS

 56820-22000 M14 X 1.5 VERNA (ACCENT,BRIO) 99-06 (50/2PCS)

56820-25000  LAVITA  (MATRIX) 01-

56820-28200 ELANTRA (LANTRA) 90-95

56820-28500 AVANTE (LANTRA,ELANTRA)  95-00

56820-29500 AVANTE (LANTRA,ELANTRA)XD 00-06

56820-37000 TIBURON  (COUPE) 96-01

56820-37010 TUSCANI  (TIBURON,COUPE) 01-

56820-37100 SONATA  II 93-96

SONATA  III 96-00

MARCIA 95-97

  NEW GRANDEUR 92-98

 VERNA (ACCENT,BRIO) 99-02

 DYNASTY 96-05

 TRAJET XG 99-

SANTAFE 00-05

EQUUS  (CENTENNIAL) 99-

CLICK (GETZ) 02-

 CORRECTION NOTE

INFORMATION

BALL JOINT

HONDA

TIE ROD END

HYUNDAI

HYUNDAI



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-130 48520-AX600 OUTER R MICRA K12E 02-04 20PCS

 M14 X 1.5 (24/2PCS)

CEN-131 48640-AX600 OUTER L MICRA K12E 02-04 20PCS

M14 X 1.5 (24/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-130 48640-AX600 OUTER L MICRA K12E 02-04 20PCS

M14 X 1.5 (24/2PCS)

CEN-131 48520-AX600 OUTER R MICRA K12E 02-04 20PCS

M14 X 1.5 (24/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRMZ-60 GE4T-32-240 R/L MAZDA 626 97-02 20PCS

M18 X 1.5 MAZDA 626 WAGON 97-02

M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRMZ-60 GE4T-32-240A R/L CAPELLA 99- 20PCS

M18 X 1.5 CAPELLA WAGON 99-

M14 X 1.5 CAPELLA INSTRUCTION

CAR

99-

MAZDA 626 99-

MAZDA 626 WAGON 99-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRHO-66 53010-S8R-013 R/L VAMOS 99- 20PCS

M16 X 1.0

M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRHO-66R 53010-S8R-013 R VAMOS 99- 20PCS

M16 X 1.0

M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRKH-39  MALE RHT SONATA (U.S.A.) YF 10- 40PCS

M16 X 1.5

M16 X 1.5

CRKH-45 57724-3Q000 ◈ MALE RHT SONATA YF 10- 36PCS

57724-2T000 M16 X 1.5 SONATA HYBRID YF 11-

57724-2T500 M16 X 1.5 GRANDEUR (AZERA) HG 11-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRKH-39 57724-3Q000 MALE RHT GRANDEUR 11 HG 13.11-14-06 40PCS

M16 X 1.5 SONATA YF 09.08-14.03

M16 X 1.5 SONATA HYBRID YF 11-14

CRKH-45 57724-2T500 MALE RHT GRANDEUR 11 HG 10.12-13.11 36PCS

M16 X 1.5 GRANDEUR 15 HG 14.06-

M16 X 1.5 GRANDEUR HYBRID HG 13-

SONATA YF 10.06-14.02

ASLAN 14-

MAZDA

HONDA

HYUNDAI

NISSAN

RACK END



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRKH-45 57724-2T500 MALE RHT K5 11- 36PCS

57724-2T000 M16 X 1.5 K5 HYBRID 11-

57724-2T500 M16 X 1.5 K7 - CADENZA 11-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRKH-39 57724-3Q000 MALE RHT K5 11 TF 11.04-13.06 40PCS

M16 X 1.5 K5 14 TF 13.05-15.06

M16 X 1.5 K5 HYBRID TF 11-15

K7 13 (CADENZA) VG 13.12-

CRKH-45 57724-2T500 MALE RHT K5 11 TF 10.05-12.11 36PCS

M16 X 1.5 K5 14 TF 13.05-15.05

M16 X 1.5 K7 08 (CADENZA) VG 10.09-12.11

K7 13 (CADENZA) VG 12.10-13.12

K7 HYBRID VG 13-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKH-40 54830-2M000 ◈ FRONT GENESIS COUPE 08-14 10PCS

54830-2M001 M12 X 1.25 (20/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKH-40 54830-2M001 FRONT GENESIS COUPE BK 10.09-11 10PCS

M12 X 1.25 GENESIS COUPE 11- (20/2PCS)

CLKH-70 ★ 54830-2M000 FRONT GENESIS COUPE BK 08-10.09

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVKH-189 54183-2Y000 FRT TUCSON LM 13-15

STABILIZER SPORTAGE SL 13-15

BAR

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVKH-189 54813-2Y000 FRT TUCSON LM 13-15

STABILIZER SPORTAGE SL 13-15

BAR

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVKK-65 AD084-40940A SORENTO

49472-70170

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVKK-65 AD084-40940A SHOCK - SORENTO

ABSORBERS

STABILIZER LINK

HYUNDAI

BUSH

HYUNDAI

KIA

KIA


